Lecture 4: A RS GL
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(1) BERS KW (GL) [g5AM
(2) 2k KW [ soundness

(3) BB RG] soundness
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(1) B 2% KW (GL) AR/ HLA mpLe?
(2) 75 KW rfdnfay i S 203 42
(3) KW Hfg WS F s il ) A R B 2

3 HENE

BIF 1 GEH R A A GL FrAlE:
(1) O(OA — A) «+ DA

(2) O(OA = A) « O0AAN A)



(3) OOp — OL
B+ 2 uERARIE 4 fF GL HfE:

BlF 3 ERH P A AR GL HrAfiiE:
(1) B+ 0Op) < 0@« T)
(2) O(p +» O-p) «+ O(p <~ 0OL)

(3) O(p ¢» ~O-p) <> O(p < 1)

BlF 4 ME: HER K = (W, R) N2 EER (converse well-founded) ,
MR W AL R wo, W1, ) W, -, FGRMER > 0, w;Rw;1.

U : O(Op — p) — Op fEfEZE K ERANY, Y HICY ISR R H
WA

fiE% 2 Boolos (1993), pp. 75-76.

BIF 5 MRS GL X T80 Hatt REERRESLZ AT SERY (sound)o R X
RN A, A GLE A, NRMEREE B RERIHESR K, #0A K = Ao

2% Z 1 Boolos (1993), pp. 76.

4 BEES

Bl 4.1 IE RS K M TAESHESL R A EERn) (K A AT S ERE) .



[B)ER 4.2 BFAFEIERH 248 Dy T K4, By S4. S5 A& S, (BoR:

Z: I, Boolos (1993), pp. 74.)
iBl& 4.3 5] Boolos (1993), Theorem 11, pp. 76.

[BIRE 4.4 4 GLg @&7F GL W A B O(0PA — A) — DA O(0A —

A) — OA BRIMBES RS, UEIATE GLy HHrfiE OA — PA.



	学习目标
	引导问题
	随堂测试
	课后任务

